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A markeiing manager of an organisation performs the following main functions
of management

planning.~”
administration
organising. -~
leading -~
coordinating
conirat
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s -l
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There are five basic functions of adminisiration, namely planning, organising,
commanding, coordinating and control.

This Is the conclusion drawn by _in devsloping the
ranagement.

approach (©

FW Taylor; scientific
Henri Favol; process
Max Weber; bureacratic
McGregor, Theory X

____ diglinguished two alternative assumptions about people and their
assumptions to work; which he called Theory X and Theory Y.

Theory X managers assume ______; whils Theory Y managers assume

1 Mayo; that people relish their work and approach their work as an
opportunily fo develop their talents; that workers must be constantly
coaxed into putting effort into their jobs

2 Herzbery, intrinsic factors such as the work iiself can motivaie

employees; hygiene factors such as a salary can motivate employees

MeGregor, that workers must be constantly soaxed into puiting effort into

-their jobs; that people relish their work and approach their work as an

opportunity to develop their talenig-- - e

4 Max Weber; a siriclly defined organisational hierarchy will contribuie to
the productivity of workers; a flexible organisational hierarchy will
coniribute to the productivity of workers
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The approach to management views the organisation as a group of
interrelated parts with a single purpose: to remain in balance.
1. contingency
2/ systems 71
3 total quality management
4 administrative
The . approach to management focuses on improving quality by helping
organisations produce products and services better, faster and more cheaply.
1 total quality
2 contingency
{3 Six Sigma
4 re-engineering
The appreach fo managementwas developed by and it involves

a fundamental reappraisal of the way that organisations operate.

total quality management; Deming #
Six Sigma; Motorola <
re-engineering; Hammer & Champy
learning organisation; Peter Senges

B

Janet receives a bonus every year. She wishes o invest her benus and
considers the following options every year: (i) buy shares of which the rate of
return depends on market movements; or (i) invest it in a money market fund
that can realise a return of more or less 10 percent per year.

Janets decision fo invest her bonus in a money market fund is a
declsion, taken under conditions of

programmed; certainty
nonprogrammed; certainty
programmed:; risk
nonpragrammed; uncertainty

I s R A
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A dscisien-maiing tschrigue that s based on the development of 2 large B
guantity of solutions to a specific problem or opportunity without the evaluation of 11, Various quaniitative tools exist that can be used by managers for decision
the soltions, s i making.
1 the Norninal Group Technigue VWhich of the following tools are parficularly useful when making a decision
z the Deiphi technigue . under conditions of certainty?
3 brainstorming
4 a real-fime Delphi technique a) Break-even analysis
3] Qusuing theory
Which one of the following is an example of a progrermmed decision? ) Lingar programming
) Simulation
a) whether a customer is entitied to receive cradit a) Capital budgeting
i} whether an employes is entitled to occasional leave
ol the interest rate that a banking client shouid pay on a bond 1 abe
) a change in the work-flow procedures of a production plant % £ 2 b
@) a shift in 2 marketing sirategy by focusing on 2 new segment of the 3 bod
markat 4 cde
1 abd Questions 1210 14
2 abec
3 be Match the information system in column A with an exampie of the application
4 de therecf in colurmmn B.
intha mode! of decision making, the decision maker L whereasin COLUMN A COLUMMNB
the model of decision making, the decision maker information sysiem Example
. 12. Transaction processing system 1. Coca-Cola implements an automatic
1 rationai; follows a sequence of steps; bounded-rational; follows. hisfher m inventory reorder system.
instincts to select the best possible solution 13. Process control system 2. Execuiives of SAB consider factors
pd bounded-rational; selacts the most cost-effective solution; rational; selects critical to accomplishing the
the best possible solution : organisation's strategic goals.
3 rational; selects a solution by using group decision-making techniques; . % G o 14. Office automation sysiem 3. Vodacom launches & new product
haunded-rational; selects the best pessibie solution on hisfher own % and needs estimates of the sales
4 rational; selecis the best ucmmwwm.m.mom:moa“ nounded-rational; selects using internal and external data on
the first option that mests the minimal criteria custorhers, competitors, retailers and
other relevant economic and
demographic information. _
4. Pick ‘n Pay records and processes

data resulting from sales, purchases
and inventary changes.

i 5. Discovery uses feleconfarencing o
communicate with their centres
across South Africa, the USA and the
UK.
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Ar organisation needs to link their amployees, supphiers, customers and other
key stakeholders electronically.

Thay neaed o
the Internet

glectronic commerce

the exdranet

a business function information system

da oo oo

ialahari net salls books that can be deliversd to customers around the giobe.

S-COMIMercs.

This is an example of _

B2B (business-to-business)
B2C (business-to-consumer}
C2C {consdmer-io-consumer)
C2B {vonsumer-to-business)

R

The development of an information system may be costly, therefore it is
necessary 1o conduct an in-depth study of end-user information requirements.

During which stage of the information systems devseiopment ife cycle would
you conduct such an in-depth study?

Systems investigation
Systems analysis
Systems design
System implementation

B R

To formulate organisational goals, the following planning premises should be
taken into consideration:

the purpose of the organisation

the business environment

values and experiance of managemaent
mission of the organisation

[T I ]
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Questions 19 to 21

Choose the organising concept in column A that matches an appropriate definition
thereof in column B.

COLURMN A COLUMNE
Organising concept Definition
18. Chain of command 1. The evaluation of how well individuals meet their
responsibifity.
20. Standardisation 2. Every employee should be linked with someone at
, a higher level, ali the way to the top of the
organisation.
! 21. Responsibility 3. Each employee should report to only one
supervisor.

4. Develop uniform practices that employees are to
- follow in doing their jobs.

5. The obligation to achieve goals by performing
reqglired activities.

22.

Decentralisation in modern organisations has the effect of empowering
employees.

Which of the following are reasons fo decentralise authority in an organisation?

a} A compiex environment with great uncertainty.

b} L.ower-level of managers are not well qualified to make sound decisions.
G} The organisation is large and complex.

d) The organisation is doing business in a predictable industry.

2) The organisation is faced with a risky decision involving very high cosis.

ab
ac
bcd
de

R
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, the organisation usually performs the core aclivities itself but

subconiracis some or many of ks non-core operations o other organisations.

du D3 P ek

teamn approach

network siructure

new veniure unit

viriuai network approach

indicate the correct sequence of the steps involved in the delegation

Drocgss.

a) Decide on the tasks to be delegated.

) Delegate the assignment.

o Decide who should perform the tasks.

d} Be prepared {o step in, if necessarny.

e} Provide sufficient resources for carrving out the delegated task,
f} Estabiish a feedback system.

abdect
acedbf
acebdf
adabgof

NI
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Match the ieadership model or approach to leadership in column A with the
management application in column B.

COLUMN A
Leadership model or

COLUMN B
Management application

approach
25  Fiediers theory 1

helps managers o decide which leadership style
matches the maturity of subordinates

28. Hersey and 2
Blanchard's
model

helps managers to match their leadership style
with the degree of freedom they want to give
subordinates

27.  Tannenbaumand | 3
Schmidi's model

helps managers to keep a good fit between their
leadership style and the situation, by analysing
the situation and changing the situation so that it
is compatible with their leadership style

can help a top manager to identify the leadership
style of a middie manager

helps managers to determine how and to what
extent subordinates should participate in
problem solving

28.  Onthe leadership grid, a manager demands performance with mirimum

consideration for people.

team
impoverished
autocratic
country-club

R IS R

28. leaders are distinguished by their special abiiity to bring about innovation
and change and they have the ability to take an organisation through major

strategic change.

Charismatic
Transformational
Dynamic
Transactional

B
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Political behaviour can take various forms in an crganisation.

Which one of the foliowing forms of political behaviour occurs when a manager
offers or promises something fo someone in exchange for that person’s suppori?

parsuasion

inducement

creation of an obligation
coercion

dh ) N -

indicate the independent elements of the motivation process:

1 motive — need — action — consequance — satisfaction

2 need — motive — behaviour — conseguence -— satisfaction/
dissatisfaction

3 need -~ motive -» behaviour — consequence — satisfaction

4 behaviour — motive -+ consequence — reward — satisfaction

#Monsy plays an important role in motivation. The following statemenis
describe the influence that money has on employees’ performance according to
various motivation theories.

Choose the incorrect staiement:

1 According to Maslow's theory, lower-order needs can be satisfied by
money.

2 Herzberg's motivators can be satisfied by a monthiy paycheck

3 The expectancy theory accepts that f employess percelve that good
performance resulls in generous payment, money can serve as a
motivator.

4 The reinforcement theory accepts that money can be used to reinforce
positive job performance.

[TURN OVER]
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The following diagram illustrates the expectancy theory of motivation.

Fill inr the missing elements.

7 Effort

;

L) J—

Reward _

1 S -

Instrumentality (it

P D N

Questions 34 to 37

(i} Expectancy; (it) Valence, (iii} Performance
(i) Performance; {if} Expectancy; (i} Valence
{i) Valence; (i) Performance,; (ili) Expectancy
{i} Performance; (i) Valence; (iii) Expectancy

iatch the motivation theory in colurmn A with the focus thereof in column B.

COLUMN A
Motivation theory

COLUMNE
Focus

34. MecClelland's
achievement
motivation theory

. People will act according 1o their perceptions that

their work efforts will lead to certain performances
and cutcomes and how much they value these
outcomes.

35. Equity theory of
motivation

. Behaviour is a function of its consequences.

36. Expectancy theory
of motivation

3. An individual must be able to perceive a relationship

between the reward he or she received and his or
her performance. )

37. Reinforcement
theory of motivation

. People acquire certain types of need during a lifetime

of interaction with the environment.

[TURN OVER]




38.

12 MNGE2016
MavyfJune 2008

The financial managsr of 2 large manufacturing firm communicates with the
production foreman.
This is an example of conumunication.
horizontal
downward
upward
lateral

B ORI

Questions 39 1o 41

Study the following barriers to effective sommunication to answer quastions 39 to 41,

40,

Group size

infarmation ovetload
Media effectiveness
Serial fransmission
Climate

Sender-receiver similarity
Credibility

Which of the barriers listed above are examples of interpereonal factors that
can prevent sffective communication?

abd
ef
efg
fg

R

Which of the barriers listed above are examples of structura! faciors that can
prevent effective communication?

1 ah
2 ad
3 be
4 bde

[TURN OVER]
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Which of the barriers listed above are examples of technological factors that
can prevent effective communication?

be
de
def

fg

B

Conflict should be managed in every organisation.

is one fechnigue to manage organisational conflict «%mamow each of
the conflicling parties give up something of value.

Smoothing
Compromise
Avoidance
Probiem-solving

B e

inventory sontra! can be exercised by the following three control systems in an
organisation:

a} Economic order quantity
b} Budgeting
c) Materials requirements planning

d) Ratio analysis
@) Just-in-time system
£ Financial statements

abd
ace
bce
def

EENE LI P

Financial budgets focus on ; whereas operational budgets focus on

ravenue; cash

revenue; operational aspects

cash flow; revenue

diverse aspects not expressed in financial terms; revenue

TN XY NN
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Prefiminary control, screening control and post-action control are the three

formg of  conirol

1 strategic

Z operations

3 quality ,
4 human rasources |

Which aone of the following is not a characteristie of an effective control
gystem?

1 he goal-origntated

2 accommodate change

be complex in order to assist in managers’ sound judgement
supply condrol dala regulardy

@
<
=)

o

Aocording to the social | view (o corporate social responsibiiity,
organisations shouid be accountable for the ecological, environmental, and
socis! costs resulting from their acons.

ey

obligation
rasponsivenass
reaction

4 interaction

P

joa]
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Questions 45 {0 50

Matoh the approach to ethical decision making in column A with the example in
cotumn B,

COLUMM &
Ethical approach

COLUREN B
Exnample

ke

individuals have the rightto a
clean environment.

48.  Utiltarian approach

49 Human rights approach 2 Dishonast behaviour of an
employee is reporied to
managament by another

employee of the organisation.

50. Justice approach 3 An organisation needs to make
decisions abaut providing medical
aid schemes for all employees

after retirament.

4 Manage ethics by means of a
code of ethics within the
organisation.

5 Equitable, fair and impartial tax
laws.

Yotzi for Bection A (5t
Section B
Read the following case study on intel fo answer guestions 51 to 7O

Ask Andy Grove, chairman of intel, about his toughest business challenge, and two
situations vie for the position. One is the time when Intel almaost went under during the
mid-1980s as a result of fierce competition from Japanese chipmakers. When Grove,
together with Gordon Moore and Robert Noyee, staried Intel in 1968, their goal was to
produce memaory chips. Initially, intet owned 100% of the market because they invanted
these chips, During the early 1670s, competitors enterad tha market and by the time
the 1480s came, the naturs of the business changed. Japanese chip makers entered
the market in a big way, offering better quality and beating the Intel's chip on price.
Japanese producers kept gaining ground, and intel was losing market share rapidly.
in the middie of 1985 came a watershed moment. Intel changed direction and instead
of focusing on beating rivals, they started focusing on a differant line of business,
namely microprocessors.  Grove's leadership in turning away from memory chips
towards an underserved market (microprocessors) helpad Iniel retain its isad in the

TTURN OVER]
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market.

The second chalienge came a decade later, when the company was siammed by s
customers and the mediz for g flaw in its Pentium microprocessors. Top management
was aware of the flaw and after a thorough investigation, concluded that it was
ingignificant. The design error caused a rounding error in the division function once
avery nine bition times. This meant that an average spreadsheet user would run into
the problarm only once avery 27 000 years of spreadsheet use. Intel admitted the fiaw,
changed direction and agreed 1o spend $475 million to replace the flawad chips. The
rules by which the company did business changed, ironically, because of the success of
another initiative, the “intel inside” marketing campaign. A few vears before the Pantium
crises, intel embarked on an aggressive marketing campaign to build its brand. The
“Intel inside” slogan was plastered on billboards, appeared on TV commaercials and, in
Chinz, even on bicycle reflectors By the ime the campaign ended, Intel had

bacome g world-famous brand with international name recognition. As a resuli, when
the Pentivm crisas hil, the customers who were concerned were not just enginesrs (who
right have understood why a minor design flaw was niot a big deal) but millions of non-
tachnical users who did not care about infricate mathamatical arguments ntel was no
langer an industrial company: it had evolved into a mass consumer products company.
Intel has learned s lesson 1t implemented several actions to win back the public’s
trust and confidence. Tventually it won a spot on Forfune magazine's fist of moui
admired companies. Grove's experience shows that when {ooad a challenge of

to be a fast learner, recognizing how the rules
io the new rezlities

rucker argues that the activiies that make

nen of action”, and 2 “front man”. This
¢ 1870s o Intel's co-founders. Maora,
with his encyclopedic mind, was the "
enormous standing in the semicond
Grove, with his no-nonsense slyle w

Flity vears from now, how waould &
would like to be remembarad for is b

g build an organisation that sustains #self iong
afterward” he says slowly

Source: Brevis, T. 2005, Lasting 'sadership, what vou can lesam from the top business
leaders. Managememnt Today 7114y 18-2

[TURN OVER]
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51.  The role Andy Grove, Gordon Moore and Robert Noyce played when they
introduced microchips in 1968 is a role; and more specifically the role
of aln)

informatlon; analyser
decision-making, entrepreneur
inferpersonal; leader
decision-making; ieader

B

52.  \Which one of the following statements does not describe the function of
Andy Grove, Gordon Moore and Robert Noyce at Intel?

Andy Grove, Gordon Moore and Robert Noyce .

1 are responsible for determining Intel's vision; mission; goals and overall
sirategies

need to influence corporaie culiure

need to implement the policies, plans and sirategies of Intel

pian for the long term and determine the organisational struciure of Intel

EENRVS 3 M ]

Questions 53 to 55
Study the following variables to answer guestions 53 to 55.

a) During the early 1870s, Japanese chipmakers entered the market, offering’
better quality and price.

b) In the middle of 1885, a market for microprocassors developed.

c) In the 1990s, Intel had 2 flaw in its Pentium microprocessor.

d} in the middie of 1985, technological innovation changed the basis on which
Intel competed, thereby created significant opportunities for them.

e) In the 1890s, Intei was no longer an industrial company; it had evolved info 2
mass consumer products company.

f Tao gain international name recognition, Intel nesded to recognise the cutture

and culfural values of other countries.

£3.  Which of the listed variables originate from Iniel's micro-snvironment?

a
ab
ce
cd

A 03 B o

[FURN OVER]
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Which of the listed variables originate from Intel's market envirohment?

1 ahb
2 ac
3 bce

4 de

Which of the listed variables originate from intel's macro-environment?

b
cd
def
daf

S G NI e

The environment in which intel competes is constantly changing.

identily the sequence of the steps thal Emw, management should take fo
prepare Intel for environmental changss?

1 redesign the organisational structure; scan the environment; and adapt
existing strategies

2 scan the environment; adapt sirategies; and compate globally

3 scan the environment; adapt existing strategies or develop new sirafegies;
and redesign the organisational structure

4 develop new products; determine new organisational structure; implemant
new policies and procedures

intel's mission statement

1 siate what the company wanis io be

2 aligns the company with its dream in terms of iis product, market and
tachnology

3. ensure that the company as a whole s aligned with the changing external
environment

4 iz a projection of conditions expected to prevail in future

[TURN OVER]
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In order to translate their mission into long-term goals, intel is using the
Balanced Score Card (BSC).

The B3C includes the following measures:

a) To succeed financially, how should we appear o our shareholders?

b}  To achieve our vision, how should we appear to our customers?

¢l To satisfy our shareholders and customers, what business processes
must we excel at?

d)  To achieve our vision, how will we sustain our ability to change and
improve?

ab
bcd
cd
abcd

B

Which one of the following ganeric strategies did Japanese chip makers
adopt when they entered the market?

innovation
integration
low-cost leadership
differentiation

PN S

Under Andy Grove's leadership, Intel turned away from mamory chips
towards an underserved market for microprocessors.

This is an examnple of afn) . straiegy.

concentration growth
focus

diversification
integration

EN S T N R

When tntel grew frorm an industrial company to a mass consumer products
company, they adopted a(n) strategy.

forward vertical integration
market development
harvesting

conglomerate diversification

R PSR B
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Intel entered the market in 1968 with their memory chips. Questions 65 to 67
According fo the Bosion Consulting Group Growth/Share Matrix, in 1968, Match the kind of organisational plan in column A with an example from fatet in
intel's memory chips could be classified as a . column B.
i star COLURN A COLUMN B
2 guestion mark Kind of organizationai plan Example
M mmmx cow 55. Strategic plan 1. Draw up a plan to allocate $475

o4

million to specific manufacturing
activities in order to replace flawed
chips.

Change the line of business by
focusing on microprocessors rather

During the 1980s, the environment changed dramatically for Intel.

NS

. . ical plan
Intel swilched direction and started producing micro processors, which could in 66. Tacticai p

the 1980s be ciassified as a on the Boston Consufting Group than memory chips.

Growth/Share Matrix. g ' p 7. Operational plan 3. Formulate a plan to segment the |
market, io decide which segment to

Iostar ) target and how to position Intef in

2 qguestion mark the industry

3 cash cow .

4  dog

68.  Intel should formulate goals that saciety expects them to pursue.

When intel launched their "intel inside” campaign, a numerical plan for allocating

resourcas 1o specific marketing activities was drawn up. This type of goals are cafled goais.
. o ’ .

This is known as a . which is an example of a _ sisn. ) wmm Mzm

1 programme; single-use 3 long-term

2 budget; standing 4 susiainability

3 budget; single-use

4 rule; standing

[TURN OVER] [TURN OVER]
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To set goals on the individuat level, Intel has decided to use a iechnique called

58.
management by objectives {or MBO).
Indicate the ssguence of staps that Intel needs (o Tollow in MBO.
aj Set the higrarchy of plans and goals in the arganisation.
3! The subordinate formuiate performance tergats in predetermined areas of
responsibility for a forthcoming period.
c} The manager and subordinate discuss the outpuis thatthe subordinate is
responsible for.
dy The superior meels with the subordinats to teview the degree of goal
attainment.
3 The subordinate meets with his or her superior to discuss potential
performance targeis.
£y Measure the subordinates’ progress periedically and establish
checkpoinis for this purpose.
t abdctie
2 bacefd
3 achefd
4 dcbaef
70.  As part of their planning process, intel needs to make assumptions about the

IRPORTANT:

|

| sheat?

external and ihe internal 2nvironment where their plans will be implementad.

During which phiase of the planning process should Intel make these kind
of assumptions?

Identify changes that necessitate planning
Draw up premises

Develop various courses of action

4 Formulate derivative plans

B -

(20}
{70}

Total for Section B
Total for the paper
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Managers &t all levels of the organisation: need three managemant skiils, but they
need i in different proportions from level to level.

Middie-level managers must have ihe ability to_ (., top-level managers must
have the ability to __n  and lower-leve! managers must have the ability to

a perform jobs such as data entry in a computer
b sea things as a whole and the interrelationship of their paris
c get employees to achieve organisational goals

b

AN
o

b
a
o

T oo
o 0om

Do o

The management procass comprises four management functions, which managers
parform in a specific sequence.

Select an example of each management function and list it In the correct sequence.

a conduct a job interview to fill a vacant position
b determine how many units must be produced during a shift
c praise an employee for reaching his saies target
d adjust the budget to reflect an increase in wagas
1 abod
2 bacd
3 cbda
4 dcha

Match each situation in column A with an appropriate management role in column B

COLUNMN A COLUMN B
Hituation Management role
a discuss the organisation’s offer on a wage increase e decisional
with union represeniatives’
b read the Business Day first thing in the morning f interpersonal
S deveiop niew total quality management technigues g informational
d_have a mentoring session with an employse -
(1) ae bf cg de
2 af by ce df
3 ag be cof dg
4 af bg ce dg
[TURN OVER]
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Guestions 4 fo 7:

The following statements pertain to the evolution of management theory. Answer the
questions that follow.

a

B

A famous serias of studies, known as the Hawthome studies, gave

momentum to this perspective on management.

This researcher was a mechanical engineer and he studied the work of

individuat workers to discover exactly how they performed their tasks.

According to this approach, certain disabilities can cripple an organisation.

This perspective on management comprises management science and

operaiions research, A .

This approach views an organisation as a group of interrelated parts with a

single purpose: to remain in balance. . :

This famous rasearcher based his model on legal authority, which stems from

rules and other contrals that govern an organisation in its pursuit to achieve
oals.

m.:m basic premise of this approach is that the application of

management principles depends on a particular situation that a manager faces

at & given time. o

Hammer and Champy are experts in this approach that entails g significant

reassessment of a particular organisation.

This approach to management grew out of the need to find guidelines for

managing complex organisations such as factories. -

refers to the human relations movement, statement refers

refers to the administrative

Statement
to the learning organisation and statement
approach to managemant.

4
2
3

e A 1]

b
f
c
g

[wH I

4

The thrae management theories that comprise the classical approach o
management are described in statements

(N

4

a i
b i
¢ g
i &

e
Do tho
b

4

Statement describes tha contingeney appreach fo management and statement
describes the gualltative approach o managament.

EENS LN R
¢ v n
RO QLo
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7 Statement _refers to Max Weber's approach o management, while statement -
refers to _ Peter Senge's parspective.
1 a b
2 b g
3 1 c
4 f b
Questions 8o 10
Stury the list below and answer the questions that follow.
& "We make outdoor chairs by converiing chemicals into a fiquid, which we
pour inte chair moulds and leave 1o harden.”
b Refore their strategic planning session, top managers read the Unisa Bureau of
Market Research’s report on tetal nousehold expenditure.
c- A Swiss company agreed o compensate several thousand people who became

iil because of exposure to asbestos dust in the Northern Cape.

~  The textile industry in South Africa is influenced by cheap labour in China
Vodacom and MTN were the only cellular communications
companias in South Africa, then CellC joined them.

i “Wg have good relations with the National Union of Mineworkers (NUM)"

o strength

h weakness

i opportunity

i thread

k micro-

! market

m macro-

8. Grootegeluk mine has good relations with NUM, whichisa i their ( A
environment, while the cheap labour in China pressnts a to the South African
textile industry's ___ environmsant,

@ 0 b pom
2 g k i m
3 im hoi
4 g i hok
o, Examples of variabies in the micro environment of an organisation are and
, while _is an example of a variable that will be analysed in terms of

Porter's model.

i3
e o

G
o *
e
f

RS b I N
om0

+
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Statements and

refer to the macroenvironment of the oﬁm:._wmmo;.
4

w\
1 ab g
\m/ oo

3 cd

4 ef

Examples of the market environment are described in statements and

bd X
ef
df
be

B

The main difference between the behavioura! approach to leadership and the
contingency approach to leadership is that

i one focuses on the characteristics of ieaders, whilst the other one facuses
on the situation

\® one focuses on what the leader does and the other one facuses on the fit

between a leader’s style and the situation

3 the one focuses on the task and the other on the reiationship of the leader and
follower

4 ane focuses on initiating structure and the other on consideration

All managers have the right to insist that employees do their work and some leaders
also have personal characteristios that make their subordinates want to follow them.

The two types of power referred to above are .
\% legitimate and expert
reward and referent
3 legitimate and referent
4 referent and charismatic

Managers should provide the necessary direction and support fo ensure that
amployees’ goals are in ling with those of the organisation. The researcher identified
four leadership behaviours directive, supporiive, participative and achievement-
oriented, which managers can use in different situations. .

The descriplion above refers fo theory of leadership.
House's

Hersey and Blanchard's

Fiedler's

Blake and Mouton's

REN 5 I A% B

[TURN OVER]
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The main difference between transactional and transformational teadership is that

—te

transactional leaders are charismatic, transformational leader are not

Z transformational leaders reward people for thair efforts, transactiona! leaders
inspire peaple to perform beyvond what is expected of them

3 transactional leaders take organisations through periods of maior change;
transformational leaders inspire subordinates with a vision  »

4 transformational teaders function wsll in unstable environments, fransactional

) leaders perform well in stable environments

Complete the following equation:

Maotivation x X = Performance
ability; opportunity

opportunity, reward

reward; situation

ability; reward

B L N e

Vuyo and Thami are both first fine managers in a produciion department. it is important
for Vuyo to perceive the refationship betwsen the reward he receives and his
performance. It is also important far Vuyo to be abie o percaive his own input-cutput
ratio and that of Thami whom he regards as his aegual.

This is an exampls of the theory of molivaiion, which can be categorised as a
theory. :
aexpectancy, content
aquity; process
reinforcement; process
equity; content

RS I R

Cindy is working on a large programme for her organisation. As a manager she'is
responsible for & variety of projects, one of which must be completed in two weeks
time. Cindy is working hard 1o meet this deadline as she does not want to be
reprimanded.

Cindy's behaviour is characferistic of the _____ theory of motivation.
axpectancy

aquity

rainforcement

job characteristics

FTHRM OVEY
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The motivation theory of Herzberg postulates that the factors responsible for job
dissatisfaction are related to iob )
1 content
cortext
M/ . satisfaction
4 design

Which of the following confrol systems are used for controlling physical resources?

1

Productivity can bs defined as the relationship between products and services and
the resources nesded fo produce it. Productivity can be increased in five basic ways.

the aperational budget and financial analysis

guality cantrol, inventory control and operational control
PERT, break-even analysis and linear programming
labaour turnover and performance measurament

Which ane of the following ways will not lead to an increass in produchivity?

1 A greater output is made with fewsr inputs. J

2 A greater output is made with more inputs, but the increase in cutput is greater
than the increase in inpuis. .~ .

3 A greater output is made with more inputs, but the increase in inputs is greater
than the increase in output.

4 A greater ouiput is made with the same inputs. Ve

The contrel process can be described in four steps.

Identify the correct sequence of steps in the process from tha following.

a Determine why the desired performance is different from the actual um:no:jm:om
within a specified period.

b This step involves the improvement of the actual _um:éﬂamnnm reviewing the
strategy, or lowering performance standards.

¢ ¢ Threugh planning and setting goals, the organisation's realistic aims in terms of
profit, market share, productivity and personnel development can be
determined.

Through the coliection and reporting of raw data and the transfarmation thereof
irto information, an organisation can measure its actual performance within a
givan periad of time.

d 2

abed
beda
dabc
y cdab

-&CA)I\J—-L

o

'
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At the feve! of ethical decision making a medical dactor facing an ethical
diternma may refer to her profession’s code of ethics for guidelines to make an ethical
deciksion

organisaticnat
association
socigtal
international

Henry is & manager at a large production plant and he is faced with an ethicsl
diiemma, on which he must make a decision. He has studied the affects that his
decision will have on his subordinates and has taken a decision that will benefit the
majority of his subordinaies o the greatest extent.

What approach to ethical decision making has Henry adopled?

utilitarian approach @
justice approach <

human rights approach 1

morat rights approach

o 0O N

The view holds that organisations owe sociaty more than mere goods and
services, and should at least be accountable for ecological, envirenmental and social
costs resulting from their actions, while refers to actions such as supporting or
opposing public issues and responding to the present and future needs of socisty by
trying to fuifil them.

social obligation; social rasponsiveness
social reaction; social responsiveness
social responsiveness; sockal reaction
social obligation: sccial reaction

AN

Which one of the following statemants is incorrect?

1 Managers at alf manageriai levels are responszible for setting goals

2 Problem solving can be defined as the process of taking corrective action that
wili solve the problem and that will realign the organisation with its goals.
Certain problems in an organisation cannot be solved.

Problem solving can be defined as the process of selecting an alternative
course of action that will solve a problem. .

BN N

27. if the decision maker has some certainty, the cutcome of each alternative is not known

in advance, and probability can be assigned o each aiternative outcome, the decision
is taken under conditions of

T risk

2 certainty

3 uncertainty

4 near certainty

[THRN OVERIT
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Which of the following are advantages of group decision making?

& values can be transmitied and alignedw
b morale and motivation of employees
< groups are more likely to satisfice than individuats v/
d better quality decisions will be made
e group decision making may lead to conformity and groupthirik
1 ab X
2 abd *
& ce
4 de

The financial manager of a large organisation needs to evaluate alternative
investments. The net present value of each alternative investment is calcuiated.

This is an example of a decision teken under condifions of , Using to
make the decision.

risk; a bresk-sven analysis
uncertainty; the simulation fechhique
uncertainty; the capital _ucu@mmmnm
certainty; linear Eomﬂmanu._:@

B -

Internet access usually provides various capabilities to users.

The capability that enables users to move files and data from one computer fo the
other, downioad magazines, books, documents, software and much more, are referred
fo as

efectronic mail

file transfer protocol
world wide web
talnet

O S

software manages the operations of 2 compuier.

Appiication
Procedurat
System

None of the above

g O PO -
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Cluestions 32 to 33: 37.
Match the classification of the information system in Column A with the examples thereof
thig Column B.
Column & Column B
Classification of the information Exampie
system
32. Operations information system /| 1. Infarmation reporting, decision
support and execulive information
systems 38
33 Management information system | 2. Expert, business function and W
process control systems » !
- 3/ The Internet, e-commerce
4. Transaction processing, process
conirel, office automation systems )
5. Decision support, executive ! %
information, transaction processing
L systems |
24, A Coke within arms’ reach’ is an sxample of the Coca-Cola company's
1 vision
2 mission 38.
3 strategic geal
4 funciional goal
35 Which of the fallowing are components of an organisations' philosophy?
1 social responsibility
2 distinctive competency
3 the organisation’s concern for financial soundness
4 ali the above %
38, Organisations normally possess a hierarchy of resources or capabilities,
Which one of the foliowing refars to resources that are necessary, but can easily be 40.
outsourced?
1 strategic resources 5
2z base resources
3 peripheral resources
4 competitive resources

[THRN OVFRT
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is @ growth strategy that involves acquiring & business bacause i presents the
most promising investment opportunity avaiiable. Neither the new markets nor the new
products have to be technologically related to the products currently being offered by
an organisatior.

i1

Conceniric diversification
Congiomerate diversification
Horizontal integration
Backward vertical integration

B G DN e

Fill in the missing words in the following table.
Type of pian Focus Time-frame Specificity
Strategic Entire lLong-term (i}
organisation
Tactical G i) {iv}
1 {i) individual; (i) short-term; (iii) broad; {iv) specific
2 (i) functional arsas; {ii) medium-term; (i} directionat, broad; (iv) more specific
3 (i} strategic business units; (i)} medium- and short terny; (iil) specific; (iv)
directional
4 (i) functional areas; (i} medium-tarm; (i) specific; {iv} broad

Which of the following are examples of single-use plans in an organisation?

programmes

policies

budget

rules

standard procedures

J R0 oD

aec
bde
cde
de

AR SRy

Goals should mest certain requirements. refers to tha requirement that goals
should indicate what they are related to, the time frame for accomplishing them, and
the desired resuits;, while refers to the requirement that the atfainment of one

goal should not preciude the attainment of another.

Measurability, attainability
Specificity; attainability
Acceptability; flexibility
Specificity; congruency

R v B

o)
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41 Which one of the foltowing indicates the process of Management by Objectives
MaBO)7

1 job ouiput — performance targeis — discussion of goals — determination of
checkpoints — evaluation and feedback

2 performance targets - discussion of goals — determination of checkpoints —»
evaluation and feedback — job output

3 determination of checkpoints — discussion of goals — performance targsts — job
output — evaluation and feedback

4 job output — discussion of goals — performance targets -+ determination of
chackpoints — evaluation and feedback

Questions 42 to 44:

Match the arganising principles in Column A with the dascription thereof in Column B.

Columm B
Description

Column A
Orpanising principle

The avaluation of how well
individuals meet their responsibility <

42. Responsibility

44, Accountability

2. The right to make decisions, issue
orders and use resourcess <,

3. The obligation 1o achieve goals by
performing required activities

43 Authority 4

4. The ahility to influence the
behaviour of athers )
5. The power to enforce compliances,.-

435, gives management a way (o delegate authority, push responsibility to lower
tevels and be more flexible and responsive in the competitive giobal environment.

The virtual network approach
Fungtional departmentalisation
Customer departmentalisation
The team approach

B 03 N

48, Which of the following statements are correct?

a itanagement can delegate responsibility and accountability for g task.,~
b Tasks of a repetitive nature can easily be delegated.
c Managers should delegate tasks, but should keep control over the necessary
resources {0 parform the task.
d Quicker decision making takes place éymn delegation is applied properly. ./
e Delegation is only effective if authority and accountability are clearly defined.
1 ah.
2 bhde
3 cde
4 ce

THRN OVER!
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47. Nike Inc., one of the major organisations in the athletic footwear and sporis appare!
industries, design technologically advanced athletic shoas, apparel, and accessories.
All Nike products are sold under the Nike name but are manufactured by other
crganisations.

This is an example of a

product departmentalisation
{eam approach 4
network organisation

new venture umit <

B G R

Questions 48 to 49:

Since its founding in 1829, Edgars Consolidated Stores Lid {Edcon) has established itself as
cne of the leaders in South Africa’s clothing, footwear and textile retail arena. Edcon is
organised in three divisions, namely the department store division (encompassing
Beardmans, CNA, Edgars, Prato, Red Square and Temptations); the discount store division
(encompassing Jet, Jet Mart, Jet Shoes and Legit) and the financial services division. The
company boasts nine retail brands with over 900 stores in South Africa, Botswana, Namibia,
Swaziland, and Lesotho. Edeon has eight pillars en which they focus their attention: culture,
company reputation, work environment, leaming, compensation, community, employee care
and leadership. Their culture is one of inclusiveness, built on the organisation’'s values of
people, integrity, performance and profassionalism.

43, When the marketing manager 2 manox s department store division liaises with the
financial manager of the . communication takes place.

|ateral
harizontal
upward
informal

B L N s

48 When the purchasing manager of the discount store division liaises with a Jet Mart-
store manager, commeunication takes place.

|ateral
horizontal
informai
upward

PN =

50, Which one of the follewing statements is incorrect régarding the direction and
frequency of communication?

1 People generally prefer fo communicate with individuals of higher status

2 People of higher status generally communicate more with one another than they
do with people of lower status. .

3 The widar the difference in status is, the greater is the likelihood that information

will follow from people of lower to higher status than the other way around.

People with low status often attempt to gain the favour of those with higher

status by displaying respect, offering praise and agreeing with their views -

ITURN OVER]
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Read the foliowing Discovery case study to answer questions 51 to 65
Discovery

Discovery comprises five companies aperating in the international health and lifs insurance
markets: Bisgiiisnsbdeslil: Dlstovery vitdlity, ‘Discovery Life, Destiny Health (U$) and
Peaifiedittrrdie). The core purpose of the group is to make peopte healthier and to protect and
enhance their lives. lts relative short history is characterised by continual innovation and a’
spirit of enirepreneurship. The organisation’s various companies and products are all at
different stages of their life cvcles, which makes for an extremely dynamic and complex
anvironment. Discovery serves more than 2 million people, most of who subscribe to more
than one Discovery product.

Discovary's greatest plus is & business phifosophy which believes that through an insightfu!
understanding of §gpiv:ggonemic trends and innovetive thinking, the group is able to provide
el “have: a profound effect on clienis and, in turn, offer excellent business

Discovery faces a highly regulated business environment. High demands on innovation place
pressure on the company’s pecple and systems to kesp up with constant change

When Discovery Health was established in 1993 it identified two trends in the private
heaithcare market: rigin dical inflatiory and incressing consumerism. The medical savings
ageouifiwas faunched &8 3h antldote to rising madical inflation, leveraging the trend towards
consumarism by placing money used to pay for these expenses directly into the hands of the
consumer,

In 1997, Discovery identified the rapid devalopmant of preventative screening and an
increasing focus on weliness, in particular on longevity. Discovery Vitality was an innovative
solution — & rewarding mechanism o engage clients in the management of their health and
well-being.

In 2000, Discovery Life was set up as a unique pure-risk life insurance company offering
flexible iife insurance products separating out investment products, focusing on risk benefits
only — which had never baen done bafore. In the same year, Destiny Health was initiated as
the first of its kind providing consumear-triven healthcare cover for 60 000 lives in the USA. In
iate 2004, Prubealth was born and within a few months, gained the status as one of the top
two providers of private healthcare in the UK,

Discovery's strategy is one that analyses sccial trends in order to identify opportunities o
come up with something completely new, and make positive and significant impact on the
people it serves. Discovery's culture is best desarinad by & 'can do, will do’ attitude. Discovery
places considerable emphasis on attracting, motivating, rewarding, liberating and inspiring the
best pecple. i is not a unionised environment. The company has a comprehensive set of
employee relations policies that have been formulated through a consultative process. Their
remuneration and reward system is based on achieving a balance betwean a fexible
approach that recognises differenses in individuat performance, value and contribution and a
consistent framework that ensures equitable levels of pay and defensibie pay decisions.

i5 MNG201-6

May/dun 2007

Exceptional reward and recognition programmes are in place to motivate and encourage
people to go the exira mile.

Discovery is in the pracess of concluding an empowerment fransaction. However, the
company is slready empowered in terms of the financial services sector charter scorecard
(FSSC). According to the FSSC, if a company owns more than 25% of anofher, the
empowerment credentials of the parent company flow proportionately through to the
subsidiary, Hence, by virtue of the recent FirstRand BEE deal, Discovery has oc:mam,ﬂmzm
empowerment status. Furthermore, they have contributed millions to research into the issue
of enabling more cost-effective private healthcare for the millions of individuals who, even
though amployed, cannot afford access to private healthcare.

Study the foliowing list of variables and answer gqueshtions 51 to 53

a Highiy regulated business environment

b~ Rising medical inflation

c increasing consumerism

d Increasing focus of customers on wellness, in particuiar longevity
&+ Changing sodial trends

f.~  Continual innovation and a spirit of entrepreneurship

a Exceptional reward and recognition programmes.

51, Which of the variables listed above ariginate from Discovery's intarnal environment?

1 ac
2 df
& fg
4 g

52. Which of the variables listed above originate frem Discovery's market environment?

\mu ac
bc
3 de
4 cd

53. Which of the variables fisted above originate from Discovery's macra-environment?

1 ace
2 abe
) bde
4 efg

v

54.  "Tamake people healthier and to protect and enhance their lives” is an example of a

corporate strategy
vision

@) mission
2
3
4 standi~ ~ plan




57

58.

58,

15 , MMNGZ01-8

Mayliun 2007

Maragement at Discovery 1s Using the information on socio-sconomic trends to provide
“unicue solutions. They are fuififing the role of

problem solvar
entreprensur
analyser
teader

LN LSS

Management at Discovery nead to have skiils in order to view the operations of
the organisation and its five companies holistically.

1 interpersonal
2 decision making
3 conceptual

4 technical

Discovery Health was establishad in 1993, launching the medical savings account. In @

1997, they identified the rapid development of preveniative screening and an
Soawmmm:m focus on weliness. Discovery Vitality was an innovative solution - a
rewarding mechanism to engage clients in the management ¢f their heaith and well-

being.
L aunching Discovery Vifality is an example of a sirategy.

market development
product development
congentration growth
diversification

I LY By e

Discovery has a comprenensive set of employse relations palicies that have been
formulated through a consultative process.

This is an exampie of &

T, standing plan
2 single use pian
3 corporate culfure
4 corparate philosophy

At Discovery, achievement is atiained by workers wha are motivated and pursue the
goals of the organisation with goodwill.

Based on the feadership grig, the ideal leadership style at Discovery wifl he )

couniry-club managamaent

team management
middie-of-tha-road managemsnt
autocratic managemant

RN ¢ I I
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Employees at Discovery resoive their own problems and they have the ability to work
together &s a group.

Based on the leadership cycle model devaloped by Hersay and Blanchard, the most
appropriate leadership style is in quadrant , namely

1: directing

Z; coaching

3: supporting |
4; defegating

B 2 PO

Questions 61 10 63

Discovery's remuneraiion system is based on achieving a balance petween the following: (i a
flexible approach that recognises differences in individual performance, value and contribution
and (i) a consistent framework that ensures equitable levels of pay and defensive pay
decisions. Exceptional reward and recognition programmes are in place o motivate and
encourage pecple to go the extra mile.

61.

62.

63.

According o theory of motivation, a recognition programme is an example of
a factor; whilst an employee's salary is an example of a factor.

Maslow's; hygiene, motivator
Herzberg's; hygiens; hygiene
Herzberg's, motivator; hygiene
McClalland; motivator; hyglene

Ja D R

According fo theory of motivation, an individual must be able fo perceive a
relationship befween and
1 McClelland's achievement: the reward he or she receives; his or her
performance

Herzberg's; his or her level of satisfaction; his or her pay and working conditions
Maslow's: his or her work afforts; certain perfarmances and outcomes

the aquity; the rewars he or she receives; his or her performance

2 M

According to the thaory of mofivaiion, behaviours followed by will aocur
more frequently and that behaviours followed by _ .

reinforcement; positive consequences; negative conseguences
expactancy, positive consaquencss; negative conseguences
equity; avoidance; punishment

reinforcement; extinclion; positive reinforcement

A G PO s
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84.  Discovery's sirategy should be implemented through
functionat factics

fraining

reward system

annual objectives

nolicies ~

B 0.0 oD

abe
ade
bde
cde

o S

85.  Discovery's strategy shouid be instituticonalised through _
policies ¥

structure v

leadership

reward systent’

rasource aflocation

L TS B v At

abecd
nede
ca
dea

B Ry —

Read the foliowing Flight Cenire Limited case study to answer questions 86 to 70.
Fiight Centra Limited

Flight Centre Limited, and Australian-based company, established its South African
operations in 1284, The company has opened branches in many of the country's majer
centres, its growth spurred by an innovative approach to selling value-for-money travel
solutions. Their ability to offer discounted international and domestic flights, accommaodation
and holiday packages, together with its unigue 'Price Beat Guarantee', has ensured it &
significart share of the South African market. Flight Cenire intends to entrench its favourable
position by consolidating is travel brands in the wholesate, leisure and corporate markets.

Flight Centre’s cuiture is one of empowering iis people, providing them with the tools fo
become successful. To handle the challenges of the travel industry, employees reed to be
passionate and dynamic seif starters who have a knack for instiliing confidence and trust in
their customers.

The company has a unigue structure: each operation is made up of business teams of no
more than seven pecople. These teams form families, which unite to form a village. In
essence, a vilage comprises all families in one area. The spirit of friendly 'competition’ exists
between teams and villages.

A carser developmant programme providas each employee with a detailed needs analysis,
based on the position they ultimately hope to achieve and the tools th 1eed to get there.

PPN VR
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Training and especially leadership training are priorities. Flight Centre does not recognise

agreements with any trade unions. They rather prefer an apen door policy and staff members

usually resoive their own disagreements. The impressive earning potential of Flight Centre

contributes to the company's reputation as an excellent employer. Rewards and recognition is
firm embedded in their culture.

Flight Cenire does not have a dedicated corporate social investment policy in place at
present. However, the company is excited about the upcoming launch of a new programme
which will grant employees time off wark in arder to suppart a charity of their choice.

Flight Cenire's uitimate goal is to dominate all aspects of the South African iravel market —
wholesale, leisure and corporate. This wilt be done not anly through business and organic
growih, but also through growing Flight cenire's people. Specific future goals include taking
advaniage of lechnological advances and establishing an even greater presence. They reveal
that 10 to 15 new stores will open within the next year, along with up to three new corporate
travel outlets.

86.  When Flight Centre established its operations in South Africa in 1994, they
implemented a strategy.

product development
market deveioprment
conceniration growth
innovation

NV R

67.  Part of Flight Centre’s sucoess is a detailed job design of employees

Job design can he defined as

the narrowing down of activities to simple repetitive routines

the pracess of making a job less specialised

developing he conceptual skills of employees

the process of combining the tasks that each employee is responsible for

P G Ny -

68.  Flight Centre does not recognise agreements with trade unicens.

Trade unions are an example of a variable originating from an organisation’s
environment

micro-
macro-
market- S
social

L Ny

e e L et
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communicate effectively.

Frust can be classified as a{n}

LORNG

LY O o=

Fiight Centre grants employess time off work in order to suUpport a charity of their

unfcation.

interpersonal
intra-personal
structural

technologicai

choice.

This is

A G g -

an example of _ .
carporate governance
social obligation
sacial responsiveness
sacial reaction

@
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Flight Centre's employess need to instill trust in thair customers in ordsr to

factor causing a barrier o effective
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1 The managemeni process

e o N

4

ANGZ201-5
OctoberiNovember 2007

[38]

pocurs at given intervals to check if the organisation is on track
comprises & logical sequence of actions by managefs
comprises ten management roles performed by managers
takes place on one hierarchical level only at any given time

2 identify the wrong stalement’

P L2

The management process is a sub-system of the organisation.
A manager's work is to manage the transformation from inpuis
io outputs

Productivity is the measurement of efficiency in an organisation.
“interpersonal” denotes both & management skill and a
management role.

Questions 3t 5

Lower-fevel, middle-level and fop-level managers perform the same functions,

hut the focus of their activities is different. Consider the following Nst of
managerial activities:

2

focus on creating and maintaining a competitive advantage for

the organisation 7

b planning focuses on functional areas
C phanning is narrowly focused with short time horizons Lo
d perform the four management functions v
a create a viston of the future for the organisation
H use standing plans
g use information that is specific and quantitative when planning
h set tactical goals ™\
[ focus on the entire organisation "¢
] implement strategic plans  r redd
3. Statements  describe the work of i - ser-devel managers.
1 adei
2 bdhj
3 cdfg
4 defg
4. Statements  describe the work of middle-ievel managers.
1 adai
2 hahj
3 cdef
4 defyg

a. Statements _

adel
bdhj
cdef
defg

B R
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October/November 2007

the gpening ceremony is performing the rols of

leader
negotiator
figurehead
spokesperson

ENNPN SR

describe the work of top-ievel managers.

A manager taking guests on a tour of a new plant after they attended

7 A first-line manager on a construction site should possess mare
skills and less skills than the top manager of the construction

company.

conceptual, echnical
technical, conceptual

B L R

Questions 8to B

interpersonal, technical
interpersonal, conceptual

Match the names of management researchers in column A with a concept in

column B.
Column A Column B
8. H Fayol 1 organisation structure
8. M Weber 2 organisation culiure
3 efficiency of workers
4 management functions
5 mathematical modeis
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Cclober/November 2007 Qctober/MNovember 2007
: 13, Which of the statements abave refer to weaknesses in Sasoi's
Questions 10 to 12 _ managemeant environment?
Maich each concept in column A with a statement in columi B W 1 ac
2 bd
B 3 ef
Column A Column B | 4 bed
10.  Total quality management 1 relates to the enviranmant ‘ i4. Which of the statements above refer to variables in the task
of organisations : anvironment of Sasol?
11, The coniingency approach .
2 is driven by compatitors, : ae
12, The systems approach consumar needs and 2 bof
consumer expectations 3 cg-
: 4 dg -
3 thereis only one best way ]
of perforrming any task 15, Which of the statements ahove refer 1o the macroenviranment of
Sasgoi?
4 people approach their work :
as an opportunity io ,, 1 aef:
develop their skills 2 bed
3 cf
5 the application of 4 def
management principles : o
depends on the situation 16.  Organisations prepare for environmental change by
— 1 information management
Questions 13 to 15 2 strategic responses
3 structural changes
4 alf of the above

Sasol is an integrated South African oif and gas company with substantial
chemical interests; they support these cperations by mining coal and

converting it into synthetic fuels and chemicals through their world-renowned 17, Which ane of the following is not a charasteristic of the management
technology. anvironment?
Consider the following weaknesses and threats identified by Sasoi in their 1 Comptexity
Annual Review and summarised financial information for 2006 and answer the 2 instahiiity
guestions that follow. 3 Independence
4 Unpredictabie
a Changes in environmental laws san result in higher costs. -
b Impact of long-term exposure ta harmiul materals on the health of 8. Which of the foliowing forces are responsible for competition in a
employess. . particufar industry, according to Michael Porter's model?
g Reduced availability of skills and competence from the labour market
to construct and maintain plants. 1 Environmental instability and change
d Insufficient awareness and experience, or poor attitudes of employees i 2 Influence of the macro environmental variables
on safely and health issues. . [ 3 Complexity and unpredictable environment
@ Climate changes that can result in the introduction of carbon tayes. - 4 Bargaining power of suppliers and consumers -
f Natural disasters and epidemics or pandemics. -
g A mafor shipping or transport incident such as a fire, explosion or gas

pipeline rupture invelving one of Sasol's logistics serviee providers. - ; :
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identify the wrong statement

The crganisation is an open system becauss

1 it is dependant on the environment in which it operates
2 the environment is dependent on the syatem
3 it is self-supporting and exisis independently
4 there iz interaction between the systern and the environment

Which one of the following statements is wrong?

1 Managers at all lavels are responsible for setting goals.

Problem solving is the prozess of taking corrective action that

wil solve the problem and that will realign the organisation with

its goals.

Desision making is the process of selecting an alternative

course of action that will solve a problem.

4 Probtem solving is the process of selecting an alternative course
of action that will sclve a prablem.

[

Lk

If the decision maker has soma certainty, the outcome of each
siternative is not known in advance, and probability can be assigned to
each alternative nutcome, the decision is taken under conditions of

1 risk

2 certginty

3 uncertainty

4 near certainty

Which of the following are advantages of group decision making”?

a Beliefs and values can be transmitted and aligned.

b Morate and motivation of employees will improve.

c Groups are mare Jikely to be satisfied (safisfice) than individuals.
d Betier quality decisions will be made -

e Group decision making may lead to conformity and groupthink.

1 ab

2 abd

3 ce

4 de -

23.

24

25,

26

27.

MNG201-6
OctoberiNovember 2007

The financial manager of a large organisation needs to evaluate
alternative investments. The net present value of each alternative
investment is calculated.

The zhove is an example of a decision laken under conditions of
using the technigue fo make the decision.

risk; break-even analysis
uncertainty; simulation
uncertainty; capital budgeting
certainty; linear programming

S A RS R

An information system strategy is regarded as one of ﬁwm
owmm:_mmro: s strategies.

corporate
business unit
functional
divisional

B L DI

identify the mcuno.&:m iT application for the sales function of an
organisation.

Failure analysis

Record keeping and financiai planning
Offic= systems and personnel

Order entry and commission calculation

B A

enables computer users to perform functions such as moving
files and data from one computer to the other and downloading
magazines, books, documents and software.

Electronic mail

File transfer protocol
The warld wide web
Teinet

LN S N P

Kalghari.net selis WQOxm that can be delivered within 24 hours.

This is an example of S-COMMEree.
B2C
B2B
c2C
C2R

B R
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30.

31

“A Coke within arms’ reach” is an example of 2

1
2
3
4

- MNGZ201-8

Dgctober/November 2007

vision

mission
sirategic goal
functional goal

Which one of the foliowing is a component of an arganisation's
philosophy?

1
2
3
4

Soctal responsibility

Distinctive competencies

The organisation’s concern for inancial soundness
A the above

Vhich ene of the following organisational resources can be
outsourced effectively?

(LSRR

4

Strategic
Base
Peripheral
Competitive

Which of the following are examples of standing plans inan
organisation?

o

© O

P O3 P

Programimes
Policies

Budget

Rules

Standard procedures

abd
bde
cde
de

Planning, the primary management funciion, is necessary for

structuring the organisation

determining what kind of people to employ
detarmining how to lead employess
furnishing standards of control

abeod
bod
od
ad

9 ‘MNG201-6
October/iNovember 2007

33, Which one of the following is not a benefit of management by
objectives (MB0O)?

Less administrative work for managers
Increased clarity of the required outnuts
Improved communication

improved employee morale

L N

Questions 34 to 40

Read the following adjusted excerpt from Reunert Limited Annual Report 2008
and answer th& questions that follow.

Who we are

fn 1948, Reunert & Lenz listed in the engineering sector of the Johannesburg
Securities Exchange (JSE). in 1980, Barlow Rand acquired the company, but
in 1893, unhundled it.

Reunert underwent major restructuring in the late 1980s when various non-
core or unprofitable businesses were dispased of.

Taday, the companies in the Reunert Group focus on slectronics and
electrical engineering. Reunerl owes and manages CBl-electric, Nashua,
Nashua Mobile and RC&C Holdings, the exclusive distributor of Panasonic
products in Southern Africa.

Reunert Limited has vested their telecommunication interests in a 40% stake
it Siemens Tetecommunications. A plannad transaction with listed PSG
Group will give Reunert a 48,9% share in Quince Capital, a financial services
company complementary fo Reunert's core business.

Reunert Limited manages businesses in the electronics and siectronic
angineering sectors, supplying products, systems and solutions to focal and
international markets. Each of these businesses remains capable of meeting
the group's objectives for sustainable growth and earnings.

At Reunert's, business units are responsible for mediumi-term decisions. The
Reunert executive team streamiines [ong-term strategic plans and investment
decisions, whilst Reunert's Board approves capital expenditure.

34 in 1880 and 1983, Barlow Rand has foliowed and
strategies relating to Reunert Limited.

external growth; decline

internal growth,; divestiture

market development; turnaround
acquisition; corporate combination

oL BY oea
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During & major restructuring in the late 1990s, Reunent folliowed a
__ .. strategy
concentration growth
harvesting
trnaround
divestiture

) —

R

Today, the companies comprising the Reunert group focus on
electronics and electrical engineering.

This represenis s sirategy
conglomeraie diversification
conceniric diversification
horizontal integration
conceniration growtt

B o=

Reunert Limited is planning a iransaction with the listed company
PSG Group o obtain a 48,8% share in Quince Capital, a financial
sarvices company complementary to Reunert's core business.

This is an example of a _ sirategy.

strategic alliance
joint venture -
rmerger
acquisition -

o N =

Consider the following list of statements from the Reunert Limited
annual report:

a "manages businesses in the electronics and electronic
engineering sectors”

b “products, systems and solutions”

c “maeting the group's objectives for sustainable growth and
earnings”

d “local and international markels”

Statemenis reflect the core componenis of a mission

statement.

1 abo

2 abd

3 baod

4 acd

MNG201-6
Cictober/November 2007

1

39 identify the wrong statement.

At Reunerf's

MMNG201-6
October/November 2007

1 decision-making authority is centralised

2 top managemant comprises the executive team and the Board
3 first-line managers execute operational decisions

4 business units do intermediate planning

40, Business units at Reunert Limited are responsiblefor ____ plans,
which deal primarily with action and pecple to implemant
pians.
1 operational, tactical
2 strategic, operational
3 tactical, strategic
4 long-term, intermediate
Guestions 41 to 45
Consider the following arganisation chart.
The organisation chart of Afro Sun Holidays
Managing U:mnaLm
e | 1 M
Desert and Dune Baach Fun ﬁ Safari — Houseboat
Hokidays Holidays ﬁ Holidays _ Holidays
. . S
Finance Markeling Personnal Operations A
v A
Product developmen Promotion Market research m —v Seliing 4

47,  Afro Sun is primarily organised according to

departmentalisation.

functionaf
product
location
customer

BT AR R
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When the marketing manager (Desert & Dung) deiegates work o the
product development manager {Desert & Dune), she also delegates
__and but not

responsibility; autonomy; autharily
authority: responsibility; resources
accountability; authority, responsibility
responsibility; authority, accountability

I L N —

Which one of the following statements is an example of the span of
control principie of organisation?

1 The marketing manager (Desert & Dune) delegates work to the
product devalopment manager.

2 Afra Sun hag three levels of management.

3 ach manager reports to only one manager.

4 The managers of Desert & Dune, Beach Fun, Safar and
Houseboal Holidays report te the managing director.

The downward arrows on the organisation chart indicate the  at
Afro Sun.

1 division of work
2 scalar principle
3 span of control
4 unity of comimand

The managers of Desert & Dune, Beach Fun, Safar and Houseboat
Holidays have _autherity and power.
fine; expert

staff; legitimate

tine; legitimate

staff; refarant

S L DD e

identify the correct statement.

Organisations need managers more than leadars.

Leading is one of four management functions.

All managers are leaders and all leaders are managers.
Managers and leaders do not have the same sources of power.

B oL

Which one of the following is a component of leadership and a
principle of organising?

Unity of command
Span of control
Chain of command
Responsibility

RE O B
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48 ldentify the wrong statemeni.

1 Leadership is about bridging the gap between formulating plans
and reaching goals.

2 The behavioural approach to leadership focuses on how leaders
should behave in a specific situation.

3 According fo Fiedler's theory of leadership, a leader’s
sffectivaness is determined by how well his or her style fits the
situation.

4 Robert House developed the path-goal theory.

48 The main characteristic of transactional leaders is that they __ .

1 have an exceptional impact on their organisations

2 are distinguished by their speciat ability to bring about innovation
and change

3 clarify the role of subordinates, initiate structures and provide
appropiiate rewards

4 are concernad with consensus-buitding, are open and inclusive
and encourage participation by others.

Questions 50 to 53
EVA COSMETICS

“Desire for recognition is a powerful molivator”, says Eva Johnston, founder
and retired chief executive officer of Eva Cosmetics "Our vision is to help
women find out how great they really are.”

Making fuil use of equal measures of enthusiasm and rewards, the company
realises thai recogrnition is as imporiant to the beauty consultanis as
compensation. At their annual seminar in Johannesburg, achiavers are
“crowned’, consultants receive big prizes and a big fuss is made of the
winnars - all to the delight of the participants For this group, nothing matters
mare than performance. and the achievers enjoy applause not only from
peers, but also from Eva Johnston, who "crowns” the four top performers.

Eva Cosmetics rejects rigid hie:archy because they realise that it tends to de-
motivate workers. The Golden Rule is the basis of their managemeant
phitosophy - management by sharing and caring. Current leadership of the
company continues to build on Eva Johnston's vision. As the current chief
executive officer said in his speech at the 2007 seminar, “loving what you do
is & more powerful motivator than money".

Source’ Adapted from Daff. RE & Marewe. D 1898, Underntan
Brace 458

; manggement. 2nd edition Ford Worth Harcoun




